Fractions, Length and Multiplication

Name: Da‘re:‘
1. 34 X 1000 = 6. Greg walks 2 miles a day to go
to school. How many meters a
3400 340000
© © week is this (week - 5 days)?
O 16000m (O 15000m
1
2. 7 — miles equals how many .
. 2 7. The perimeter of a square
kilometers? km o
shaped building is 80yds. What's
the width of the building.
3. Which shape's perimeter is O 40yds O 15yds
not 72? O 20yds O 10yds
21 24
o 1= O 12 18. 25/100 in its lowest form?
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50 50 9. (45 X 10) + (34 X 100) =
40 40
O — O —
50 100
O S O 2 10. Which number multiplied by 100
10 5 will give you the same answer
as 1000 X 42?
5. Which will give the greatest
answer?
O 150X 100 O 1428 X 10

O 32X1000 O 77485 X 1
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